
Jerry Greer's Engineering - 1940 Chief - Clutch

Ref Part # Qty Description Price

Page 1               Created On: 04/24/2024 - Copyright 2024 Jerry Greer's Engineering



Jerry Greer's Engineering - 1940 Chief - Clutch

Ref Part # Qty Description Price

1 20B20 1 CLUTCH SPROCKET NUT, 1-3/8''-24(Hex) $9.75

2 20B62 1 TAB WASHER, 1-3/8'' internal clutch sprocket $7.25

3 17A363 1 SHIM, .005'' thick, clutch sprocket $5.75

4 85376 1 CLUTCH SPROCKET, 4 row, includes bushing, New, Made in USA currently
unavailable

5 JG-2346 6 CLUTCH SPROCKET STUD, $8.00

6 20B14 1 CLUTCH SPROCKET BUSHING, 1.450'' long, must be honed to fit transmission main shaft $16.00

7 22B43 1 CLUTCH HUB, 1.350'' thick, transmission main shaft driver $80.00

8 20B757 1 CLUTCH HUB WASHER, .634'' I.D; Cad Plated $2.75

9 20B38 1 CLUTCH HUB NUT, 5/8''-24(Jam), left hand threads $9.75

10 538115 1 KEY, 3/16 X 3/4(Woodruff) $0.75

11 JG-2887 1 CLUTCH PLATES, molded composition material, Includes Fiber, Steel Plates & Springs (Note 741 models only use 12 springs) $225.00

12 27B204 9 CLUTCH PLATE, 1/8'', grooved, molded composition material $15.00

13 22B33 6 CLUTCH PLATE, 1/16'', steel $13.50

14 22B36 16 CLUTCH SPRING, replace if shorter than 13/16'' long $2.00

15 24B48 1 CLUTCH RELEASE WORM, 2.838'' long $90.00

16 JG-2482 1 CLUTCH BEARING ASSEMBLY, release throw-out bearing $60.00

17 22B39 1 RELEASE PLATE, Made In USA $45.00

18 22B102X 1 TENSION SPRING PLATE, $125.00

19 20B56 6 SPRING PLATE WASHER, $0.50

20 A16260 6 SPRING PLATE NUT, 5/16''-24, .203'' thick(Hex); Cad Plated $1.00

21 24B49 1 COLLAR, clutch release worm, Cad Plated $10.00

22 763003 1 O-RING, 1.312'' O.D, .125'' thick, clutch release worm $1.00

23 20B50 1 CAP, knurled, release worm; Cad Plated $14.25

24 23B80 1 LEVER, release worm $17.50

25 922010 1 WASHER, 1/2'' Split Lock; Cad Plated $0.75

26 607013 1 NUT, 1/2''-24(Jam) $4.75

Page 2               Created On: 04/24/2024 - Copyright 2024 Jerry Greer's Engineering


